] EusyStﬂirS

NEXT LEVEL SAFETY

Annex no. 1
Assembly instructions

Aluminum container stairs




7 EusyStuirS

NEXT LEVEL SAFETY




7 EusyStuirS

NEXT LEVEL SAFETY

Table of contents

1.
2.
3.
<
4.1.
4.2,
4.3.
4.4,
4.5.
4.6.
4.7,
4.8.
4.9,

4.10.

Assembly INSErUCHIONS Lo e et b b bbb s
Components of the container stairs SYSTEML i e s s s
The list of tools necessary for aluminum container stairs assembly ..
Assembly operations for particular elements of the aluminum. ...
Assembly:
Assembly:
Assembly:
Assembly:
Assembly:
Assembly:
Assembly:
Assembly:
Assembly:

Assembly:

LT 0 0 N
Ty o == TR
PPOSES ottt ittt ettt e et st e et s e84 e e b h e en bt en s
= = =P
ot ol Ty = o o T
L3 L o = ST
T I ln Ty = o TP

POSES CONMCENMETATION coii it s bbb b b bbb b bbb s

11
24
25
25
26
30
33
35
36
41
42
45

46



7] EusyStﬂiI‘S

NEXT LEVEL SAFETY

Revisions

Item

NAME AND
SURNAME

DEPARTMENT

DATE OF
CHANGE

SCOPE OF
REVISION

NOTES

Piotr Abram

RD

25.06.2018

List of elements,
assembly of safe
barriers

10

11

12

13

14

15




7 EusyStuirs

NEXT LEVEL SAFETY

1. Assembly instructions

The assembly instructions constitute the annex to the operational and
maintenance manuals of the aluminum container stairs system by TLC.

The aluminum container stairs consist of individual elements, as listed in the
specification enclosed with the delivery. There are bolted connections and pins in the
system. The system is supplied in the form of separate elements, such as platforms,
barriers, steps, connectors, stairs and poles. The elements are installed in the
specified order.

The aluminum container stairs, as a modular structure, may be freely
configured as needed. Setting of the individual configuration should be compliant with
the operating and maintenance manuals. The following are 8 basic arrangements of
the container stairs.

Figure 1. Configuration 1



Irs

-
=
d
[T
<
w
-
d
—
d
—
-
>
-
=

[ =
et
N
—
(7]
{ =
Ll
]

Figure 1. Configuration 3

Figure 1. Configuration 4



[ EusyStﬂirS

NEXT LEVEL SAFETY

Figure 1. Configuration 5

Fiqure 1. Configuration 6



7 EusyStﬂirS

NEXT LEVEL SAFETY

Figure 1. Configuration 7



[ EusyStﬂirs

NEXT LEVEL SAFETY

Figure 1. Configuration 8



[ EusyStﬂirs

NEXT LEVEL SAFETY

Figure 1. Configuration 10

10



7 EusyStuirS

NEXT LEVEL SAFETY

2. Components of the container stairs system.

The list of elements in Table 1 presents the components of the container stairs
system and their quantity installed, depending on the configuration, and the type of
the system ordered by the client (to be selected from the code column, description of
the component).

Table 1. The list of parts

Configuration
Item Code Description of component
1 | 3 | 4 | 5 | L] | T | B | 10
Components of the container stairs system

1. P-EK3-58-G Upper stairs 1 1 1 V] 1 o 1 1
2. P-5K3-5B-D Lower stairs 1 1 1 V] 1 o 1 1
P-5K3-FPD1.1-P Landing 1100x1 100 profiled grating V] 1 0 V] 0 o 0 0

° P-5K3-PD1.25-P Landing 1250x1250 profiled grating V] 1 0 V] 0 o 0 0
P-5K3-FD2.4-P Landing 2440x1 100 profiled grating 1 1 1 1 Li] 1 1 1
P-EK3-PD2.4x1.25-F | Landing 2440x1250 profiled grating 1 1 1 1 0 1 1 1

& P-5K3-PD1.68-P Landing 1630:x1100 profiled grating V] o 0 V] 1 o 0 0
P'SK:"PDF,‘-GQ” 25 | | anding 1620x1250 profiled grating | 0 o 0 o |1 |olo] o
P-BK3-BP0.5 Landing bamiar 500 heawy-duty V] o 0 V] 0 o 1 0

> P-5K3-BPD.G1 Landing bamiar 610 heawvy-duty V] o 0 V] 0 o 1 0
6. P-5K3-BP1.1 Landing barrier 1100 heavy-duty 1 3 1 V] 1 o 2 1
T. P-5K3-BP1.25 Landing barrier 1250 heawy-duty 1 3 1 V] 1 o 2 1
P-BK3-BPZ4 Landing bamier 2440 haavy-duty 1 1 1 1 0 1 1 1

& P-5K3-BP1.69 Landing barrier 1680 heavy-duty V] 0 4] V] 1 o 0 0
a. P-5K3-B5-DL Heavy-duty lower left bamier stairs 1 1 1 i} 1 li] 1 1
100 P-EK3-B5-DP Heawy-duty right lower barrier stairs 1 1 1 V] 1 o 1 1
11. P-5K3-B5-GL Heavy-duty upper left barmier stairs 1 1 1 1] 1 i} 1 1
12 P-5K3-B5-GP Heavy-duty upper right barrier stairs 1 1 1 i} 1 li] 1 1
13 P-5K3-PR1 Post 01 1 3 2 V] 2 z 2 4
14. P-5K3-FR2 Post 01 V] W] 0 V] Li] z 0 0
P-BK3-WT1.1 Landing suppart 1100 2 2 1 2 1 z 2 0

= P-BK3WT1.25 Landing support 1250 2 2 1 2 1 z 2 0
16 P-5K3-01 Concentration cross rail V] 0 0 V] Li] 0 0 2
17. P-5H3-X1 Concentration V] o 0 V] 0 o 0 4
18. P-SK3-A1 Concentration connecior 1] o o 1] Li] o o “
19. P-5K3-LP1 Barmier connector 1 2 1 V] 1 0 2 1
P-SK3-LP2 Landing-container connector 01 i] i 1 i] 1 i o0 2

20 P-5K3-LP3 Landing-container connector 01 i} o 1 i} 1 li] o 2

11



B Easy

Stairs

NEXT LEVEL SAFETY

21, P-5H3-LP4 Barriers filling connector i} i} o i} 0 i} 2 o
22 P-SK3-LPS Bamiaer connector o o 0 o 0 o 2 0
23 P-5K3-LP-5B1 Liowver stairs connecior 2 2 2 o 2 o 2 2
24. P-SH3-LP-5B2 Upper stairs connector 2 2 2 i} 2 i} 2 2
25 P-SK3-ZW Bracket clamp 2 2 1 2 1 2 2 0
28, P-5K3-BPD.5-P Barrier panel 500 o 0 0 o 0 o 2 0
27. P-SK3-BPO.G1-P Barrier panel 610 o 0 0 o 0 o 2 0
28. P-5K3-BP1.1-P Barrier panel 1100 1 3 1 o 1 o 2 1
29 P-5K3-BP1.25-P Barrier panel 1250 1 3 1 o 1 o 2 1
0. P-EK3-BP2.4-P Barrier panel 2440 2 2 2 2 0 2 2 2
. P-SK3-BP1.62-P Barrier panel 1650 o o 0 o 1 o 0 0
3z P-5K3-B5-P1 Staircase barrier panel P1 4 2 @ o 4 o @ @
33 P-5K3-B5-P3 Staircase barrier panel P3 2 1 2 o 2 o 2 2
34, P-S5K3-B5-FP2L Staircase barrier panael P2L 1 i} 1 i} 1 i} 1 1
as. P-SK3-BS-P2P Staircase barrier panel P2P 1 1 1 o 1 o 1 1
Table 1. Fasteners
Hem Cod D iption of components | Configuration
a2 escnpoon n
i [ 1] a]a] s [e]7]a]10
Fasteners
A 'Sﬂ‘miz"‘”“‘m” Balt M10x100 A2 12 [ 21 12| &8 | 10| 20| 14| 12
B. Isodmizmmﬂzn Bolt M10x120 A2 8 4 4 0 4 0 8 4
C. IS0 4014 M10xB0 A2 Biolt M10w80 A2 a a a 0 8 0 12 12
D. 150 4014 M10x60 A2 Biolt M10wE0 A2 15 17 a 4 7 16 14 13
E. IS0 4017 M10x30 A2 Biolt M10x30 A2 o o o 0 0 0 o] 2
F. B0 ‘5112”12"15” Balt M12x160 A2 2 z | 2 o 2 | o | 2| 2
G 150 4014 M12x00 A2 Biolt M12x20 A2 o o 0 0 0 4 o] 0
H. IS0 4017 M12x30 A2 Biolt M12x30 A2 o o o 0 0 0 o] 8
L IS0 4032 M10 A2 Mut M10 A2 47 52 as 12 " e 54 43
J. IS0 4032 M12 A2 Mut M12 A2 2 2 2 0 2 4 2 0
K. 150 7089 10 Washer 10 A2 Q4 1044 70 24 B2 72 108 a8
L. 150 7084 12 Washer 12 A2 o o o 0 0 8 o] 16
M. 1509021 10 Extended washer 12 A2 4 4 4 0 @ 0 4 @
R. DM TS50 K Self-drilling screw A2 4,2x20 100 116 100 16 i 3z 108 | 100
Table 1. Elements neceszary to adjust the height of the stairs depending on the dimensions of the
containers.

. Container Container | Container
ftem Cada Description H=2501 | H=2800 | H=2900
21 P-5K3-5B-F51 Stairs extension 01 right 0 1 0
1 P-5K3-5B-F52 Stairs extension 02 right 0 o 1

M. IS0 4032 M10 A2 Mut 10 A2 0 B
Q. IS0 7089 M10 Washer 10 A2 o 12 12
P. 15040 EZH 1080 Bolt M10x60 A2 0 8 [

12



K EusyStﬂirs

NEXT LEVEL SAFETY

Table 1. Components of the container stairs system.

P-SK3-SB-G
18943 ok REL

1%

1531,

[

Mass: 43.693 kg
P-SK3-SB-D

2 1122 s 3 1100 ,
5y | 1
7‘l‘ ;
13 —
2 | e g
> I .
¥ 4
i i | 0 o
Mass: 42.802 kg
P-SK3-PD1.1-P P-SK3-PD1.1-W
1100 B0, 1100 B0,
: - = v 7 ._ : P v o;': E
e . E:E l o
aa2
= 3 b= .
e | :
A LAAIIIIIAAIIIIALY M . o 8 N
:t;e_.“. vros: g g . : :
Mass: 18.649 kg Mass: 26.351 kg

13



Easy

Stairs

NEXT LEVEL SAFETY

P-SK3-PD-1.25-P

Mass: 26.173 kg

P-SK3-PD2.4-P

1100

Mass: 38.868 kg

80

e

L

P-SK3-PD2.4x1.25-P

1302

o

Mass: 45.224 kg

14



& Easy Stairs

NEXT LEVEL SAFETY

P-SK3-PD1.69-P

CEa

1100

Mass: 27.854 kg
P-SK3-PD1.69x1.25-P

_.
o
-
=
oo
=

»
LA

1302

Mass: 32.183 kg

15



16

= (-
[ Bacose  aooR SHRRERHE GRS
Q000000 OO0 CO000 OO0 00000 [exexexane (858
0RO 0000 X OX XXX oX XX el SROROOXORO O ereree, RO
Q0500000 GO0 SORROrOEONOOn SOOBOOON
b OOCI00 000 GO0 00 ~ OO0 0000 @) 88 o0
OX0CIO0I0T0 (oM eX) ~ ORO=CR0-0-0:0:0 (SxeNeReie ‘e,
< 00O 000 OO0 o n OrOrCr oo (@)
OIONCIOI0I00 (o) OO0 OIOICOr 00707070 (o} (wxa)
005 CL000:.0:0 GOOOOOOo0 OO RRO70] Lo x e ox
(oK e Mo o X e N SN SN FOFIIIFTTO B oo S
N 00 CI00 000 OOOICI0I0I0I0I0 O o000 OMwo ot
[rs A4 ‘= a e XX R s e e aiie ‘o'
= = o g L o
ommm _, 2] ; — = © Al — x
g 1 i © . (o]
e g 0€8 3 g | &
—E g e | 8
= L 1 -
nhd — ) | o 0€s s
¥ 5 4 % 4
= w0 o @ ©
=] =
=
J
= =
<
| o - of
v x © )
o T 2. ) N
a 48l o m I m
@ o ks o
™ (3] A
X @ X @
o 2 g 0811 g
o = a ' =




Irs

>
—
L
L
=<
w
-
(]
>
[*7]
-
[
>
[*Y]
=

[ =
et
N
—
(7]
{ =
Ll
]

|| : g n_r
DD_U.H._UDGDD G-DD ) _rU fea ] _nUﬁU.D. (ala] .UDDDUUDD.U.DDD_U.DH_ DDDD—HDDDUDE-U..DDUDD
A L0 0O O B
¢0M¢D_uwa oo nuMn_ nunUnmu o S o a0
e e T e T a1 OO0 e
ﬂn_n_o_um_uan.wn 0 R n@u e R e
e e CrOn e Wﬂ oo oG L L
o CooeCnn ChorCr i fal L0 O O O U OO O O
A ] Mn_un_ CRCHCInEn) R e el T e
o Mo_u _u.uo [=1s cﬁ%am.u_u Ll e M= T N o i w koo o
Maocmn.n..u_u GRS e (e e Gl oo oo
ooo oD oo uﬁn“uun oo S e e e
Sk Saee sl
i o ]
3 Cu w0 R R uM = e e =)
i el S e ~ Semvade,  ohoononm
(o o o A s - SO0 ooaco SH O Coey R en e
[#HwNs] _u_n_.n__un__u ] n.vnnr .v_u [=E=1 =l K= 1= = le = = = =]
L3 i o ) s (WA ] DTN Dn_n__unn.n.ﬂn_u_u_.u.n.nnuﬁ.
oA & ..,n”uuﬁ,uun» amoeconn Goeoann
] o e nﬁ OO0 G OGO i e O O
= GD_u__uﬁ _u._n..n_ _u__u nu_ L J_hn_ u oo oA cAooonono
b_u_unv_ua_u_u o - uru o oD orco o QOO0 oD D
o e w2 (= e ol e N dogoooone | o
> i o o O CoC Wi D00 oo0 0000 (&)
-~ on _u_uwo_u._u oo B G | = E) et gooooannn
' DMDG (=Nl w] [x o e 2 Qo0 o oo o 0 coooononio | Uy
o oH Dauﬂmaoam h i 1y Soreororg _u.uan_uwn_.uaqamaauwo b7
m _— 1 od [0 e e a e RN ) Pl
o] Y . (Y e ..
e — — | 5 i
i L ]
1 A
@ 0€8 | 258 ©
o =a UE =
'y
s =
= T T _ — I
—
a
— £t
=1 ==
—_ =
(=1} =p
[Ts]
— = [d] o
c Bz e
o o & o
m i i
. &1 7
J { .
o 08l = |4 1y =

P-SK3-BP2.4

40

=1

0811

(T

Mass. 12303 ky

17



Irs

>
—
L
L
=<
w
-
(]
>
[*7]
-
[
>
[*Y]
=

[ =
et
N
—
(7]
{ =
Ll
]

P-SK3-BP2.4-P

1154

Q
(o}

()

(%)
oo
(s)
(s)
(&)

-
J

>
@)
")

-

000 0.0.0
)

O
C
C

O,

O 0000
uO“) i)

OO
(#)
O

1)
0

)

b)

(«
O
a
(@

{
O,

(oo e aie nle e e ie)

O

- 3.261 kg

Mass

P-SK3-BP1.69

o

Mass: 8.299 kg

P-SK3-BP1.69-P

1604

DCO0Q000
QCOODOO0
00000000

LCO0 000
00000000
OCOO0O000
COoO0000Q00
O COO0 00
00000000
Qo000 0
00000000
Qo000 000
0000 0Q00
OCQOO000
00000000
QCO 0000
00000000
OCO0000
o000 Q00
QCOO00C
00000000
OCO 0000
o000 0CG00
OCOO 000
00000000

0O 000 Q00

0OQEO0000
0000000
Q00000000
00000 CO0

0 &0 0000
Q0000 COo0
COCE00000
00000000
OO0 O G O 0RO O
Q0020000
GO 0Ca0000
elslielerelole i

- 5.032 kg

Mass

18



& Easy Stairs

NEXT LEVEL SAFETY

P-SK3-BS3-DL
2294, 8 LY
' 4 i
= : )
& h -3
Mass: 7.385 kg
P-SK3-BS-DP
2294, 8 101
y —
.-"'- y
"._-( ||
= /) .
4 1 b
Mass: 7.385 kg
P-SK3-BS-GL
2839, 5 J 100
U U e
Mass: 8.328 kg

19



7 EusyStﬂirs

NEXT LEVEL SAFETY

P-SK3-BS-GP
28385 . 100
i i b
¢) o) L]

Mass: 8.328 kg
P-SK3-BS-P1

1289 ,73

830
I\

O OR AR OA0A60
DR OO ORI DO OO0
DOOOOO« Oflol"'J r"i')"ﬁc’o e et
RS RR S DR CROROROSOACH
TR I = e T (3 N Y e ot
OO0 =0 =00 =020 =002 0= 0 =0 =
e G e e e TR e e O
DR OSE0 A0S 050 0000 000
e e O e I I I eI 01
B SR R R R OB O DR U RS OAC R OS
DEOROSOSOROSOA0H
GO oM OO Yo O

O
.

.
a0

em e e e e
DEOEO=0E00GE0E0

O

Mass: 3.833 kg
P-SK3-BS-P3

1289,73

¥ w

o e v wio e Lo e S L g Lo ey e a S et e
OO0 SO0 S0 0 I0 S0 SO0 S0 20 S0 20 2 O S0 =
(S )Sle v e o L i el b w i w s w st o o S S w o o) v
X OO0 X0 OXOXO X0 X CXO O X0 X0 X0 X 00
(e pie ot e ble bu beie belw e e bl w hfn g w bl u e bl w pla bl w el m bl w
N a g e e ) s et e Pt e e e e et pud e pad o Pl e o s palageCa et
et e el O OO OO O O OO 00 0 =020 20
S 10e e ot bote Jod b Jodm et e e e det o o fd s b oo e e e 9ot s ot ol pot o]
626962626 96269626269690969696 9626269020
D RO OO OR DR OA0 RO G A0S OR 0 A0S0 0
0002020 Y600 P5 Y6020 6C 09590
QROX0 20 OX0XO 0 X0 S0 SOI0 2020 2
o0 0E 0 0R0R 02000020
OO O O OO O OO T O e D O

830

.
o

3 3 0 LRI »)
e
O X OROR0R0ROROR0RCROR0LOE0S00E0I0Z08020 2
O o) O O e O O O I e N O ) 2 O 2 )
OAOROSOROR0AOROROXDROROROROROROROS0A0S050
ORORO S0 OE ORORO R OROEOE0 20 2020 AN OSO 2020 O
H08CEYAORE §ORIRIROZDE0H0R 0RO 0E0E0 0070
OROMOCOR 0000 °o°o°5°o°o0080203589208600
) L X
O AORURIACR D RORO RO OO X0 S0 SO R 0O SO 0R0n O
] B 0RO O O D OO O OR RO O O 0RO RO DGR 0RO

O . OO ORORO=0 S0 = QSO T0

Mass: 3.830 kg

20



Irs

>
=
[
[
<<
1)
]
d
=>
d
=)
-
>
-
=

[ =
et
N
—
(7]
{ =
Ll
]

P-SK3-BS-P2L

735,18

-

- 1.481 kg
P-SK3-BS-P2P

Mass

]

735,1

Mass: 1.481 kg
P-SK3-PR1

oo os a

1 9.446 kg
P-SK3-PR2

Mass

o

-

s

9.532 kg

Mass

21



[ EusyStﬂiI‘S

NEXT LEVEL SAFETY

P-SK3-WT1.1 P-SK3-WT-1.25
. 1100 L1 1301 120
z-’-’_l"-"'_-/z f__r:::z"ff"
— /// =t J_,a;,,-f'
B / / - v 4
- 47
I o
Mass: 4.245 kg Mass: 5.037 kg
P-SK3-01
3 =
= 1 4 O
Mass: 3.455 kg
P-SK3-X1
1656 8 b
i oF b
Mass: 2.985 kg
P-SK3-A1 P-SK3-LP1
160, 66 60 0
i- [ o | ——mma ] i [ | |
Mass: 0.172 kg Mass: 0.137 kg
P-SK3-LPZ2 P-SK3-LP3
fi 130 161 130
—t T 'l
4
k [
Mass: 1.777 kg Mass: 2.086 kg
P-SK3-LPA P-SK3-LP5
964, L = L1 ]
| i, L] T r
—_— -
b5 1= \EJ
Mass: 0.712 kg Mass: 0.041 kg

22



& Easy Stairs

NEXT LEVEL SAFETY

P-SK3-LP-SB1
1000 l
== ek Vo o .
— — 1
Mass: 4.440 kg
P-SK3-LP-5B2
1000 i1
5 2 0 ‘=i

Mass: 3.871 kg

P-SK3-ZW
., 108,80

ij% q-—h-

Mass: 0.874 kg

P-SK3-SB-F51

Mass: 13.400 kg

P-SK3-5B-F52

N

Mass: 3.087 kg

23



7 EusyStuirS

NEXT LEVEL SAFETY

3. The list of tools necessary for aluminum container
stairs assembly
Table 2.List of tools

I Spanners: 21,19,17,13,10

)

N

9
-/
Joist, min. load capacity 1t
=l "
>

Measuring tape

—
6o

screw gun with cross bit

24



7 EusyStﬂirS

NEXT LEVEL SAFETY

4. Assembly operations for particular elements of the
aluminum.

The assembly instructions present the method of installation of the individual
elements of the container stairs system.

4.1. Assembly: supports

_ The bracket clamp should be set up with the arrow pointing upwards.

25



Irs

>
—
L
L
=<
w
-
(]
>
[*7]
-
[
>
[*Y]
=

[ =
et
N
—
(7]
{ =
Ll
]

landings

4.2. Assembly

The landings are installed on supports.

26



Stairs

NEXT LEVEL SAFETY

Landings assemble on posts

“= The bolts used for screwing the columns are also used for mounting stairs (
see page 36)

27



7 EusyStﬂirS

NEXT LEVEL SAFETY

o

== In case of assembling the landings on posts, the connector P-SK3-LP2/ P-
SK3-LP3 should be used in order to screw the construction to the container.
(Assembly : connectors, page 44)

Connecting the landings

i—‘ The landings should be connected with 4 screws.

28



7 EusyStﬂirS

NEXT LEVEL SAFETY

29



7 EusyStuirs

NEXT LEVEL SAFETY

4.3. Assembly: posts

Posts should be located under the landings or stairs and then screwed on with bolt, washer,
nut set.

The posts should be installed in the number and location according to the
configuration.

30



7 EusyStﬂirs

NEXT LEVEL SAFETY

o
=" The landings of the second level should be supported on the base level of the first
container.

31



7 EusyStﬂirs

NEXT LEVEL SAFETY

32



7 EusyStﬂirs

NEXT LEVEL SAFETY

4.4. Assembly: stairs

6
' To screw the stairs: dismantle two of the upper steps (in case of lower stairs) and two

bottom steps (in case of upper stairs). P-SK3-LP-SB1 and P-SK3-LP-SB2 connectors are
attached using the same screws as for steps.

33



7 EusyStﬂirs

NEXT LEVEL SAFETY

|
== The posts, which are installed next to the stairs should be screwed to the inner side
of the platform with the same screws as the stairs.

34



7 EusyStﬂirs

NEXT LEVEL SAFETY

4.5. Assembly: stairs extension

"= Stairs extensions are mounted, with the set of screws attached, according to
container height.

35



o EusyStﬂirs

NEXT LEVEL SAFETY

4.6. Assembly: barriers

i,
= The heavy-duty barriers assembly method is shown below. The safe barriers
should be installed in the same way.

36



7 EusyStﬂirs

NEXT LEVEL SAFETY

o
= Barriers, which converge perpendicularly, should be connected with P-SK3-LP1
connector.

37



7 EusyStﬂirs

NEXT LEVEL SAFETY

In case of assembling stairs on the long side of the platform, use supplementary
barriers and fix them with P-SK3-LP4 connectors for stairway barriers.

38



7 EusyStﬂirs

NEXT LEVEL SAFETY

39



40



7 EusyStﬂirs

NEXT LEVEL SAFETY

4.7. Assembly: P-SK3-LP2 connector

1
= Depending on the construction of the container frame, use the P-SK3-LP2 or
P-SK3-LP3 connector

41



7 EusyStﬂirs

NEXT LEVEL SAFETY

4.8. Assembly: safe barriers

6
== The assembly of safe barriers takes place by screwing the filling in the form of

perforated sheet panels for industrial barriers with the use of screws. In order to
facilitate assembly in the barriers, preliminary holes have been prepared, in which

screws should be screwed.

_ P-SK3-8P1.1

SK3- P-5K3-BPO 61 _ ey
P-SK3-BPO.5 P
= S \"/ (28)
{26) o
(®)
o (R)
(®) (&)
") p-sk3-8P1.25 el £

P-5K3-8BP1.69

~——

(29)

42



7 EusyStﬂirS

NEXT LEVEL SAFETY

(30)
A p-5K3-BP2.4

43



7 EusyStﬂirs

NEXT LEVEL SAFETY

P-SK3-85-Gl

(#)

44



7 EusyStﬂirs

NEXT LEVEL SAFETY

4.9. Assembly: P-SK3-LP5 connector

P-SK3-LP5 connector is used to connect safe barrier panels when the stairs are
assembled perpendicularly to a long landing. The connector should be screwed to the
landing barrier using the screw set from the upper stairs barrier, then, using screws from
the connector set, screw the upper stairs barrier panel.

45



7 EusySl’uirs

NEXT LEVEL SAFETY

4.10.Assembly: posts concentration

46



7 EusyStﬂirs

NEXT LEVEL SAFETY

= The P-SK3-01 bar has a gradual length adjustment allowing its length to be
changed depending on the width of the installed stair system.

47



